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تنويـــــــه
هذا المحتوى )الملف( حصري وسري للمشتركين الحصريين فقط

ضمن الاشتراك الحصري لدى مكتبة الفكر، ومحمي بحقوق الملكية

الفكرية. يُمنع منعاً باتاَ التوزيع أو النشر أو الاستخدام غير
المصرح به وقد يؤدي ذلك إلى اتخاذ إجراءات قانونية.

شروط الاستخدام

عضوية مدفوعة: الوصول الحصري محفوظ لأعضاء مكتبة الفكر 

       المميزين، والوصول غير المصرح به يُمنع بشدة.

منع التوزيع: لا يجوز لأي فرد أو كيان أو طرف ثالث توزيع أو 
       مشاركة أو استنساخ أو نشر هذه الملفات بدون إذن صريح 

       من مكتبة الفكر.

استخدام غير مصرح به: يُمنع بشدة أي استخدام من قبل 

      غير الأعضاء أو الأفراد غير المصرح لهم، بما في ذلك مشاركة أو 
      تحميل أو جعل هذه الملفات متاحة للجمهور.

عواقب قانونية: تحتفظ مكتبة الفكر بالحق في اتخاذ إجراءات قانونية ضد 

أي كيان أو فرد ينتهك هذه الشروط، وطلب تعويضات وتحقيق الإنصاف وسائر 

الإجراءات المتاحة بموجب القانون.

الإبلاغ عن التوزيع غير المصرح به: إذا كنت على علم بأي توزيع غير مصرح به أو

استخدام، يرجى الإبلاغ عنه بسرعة إلى مكتبة الفكر على البريد الإلكتروني:

hello@intellectlibrary.net. نقدر تعاونكم.
شكرًا لكم، مكتبة الفكر
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https://t.me/InLibrary
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 Q.1: Integration By Substitution 

Evaluate the indicated integral. 

∫ 𝒙𝟑√𝒙𝟒 + 𝟑 𝒅𝒙 

a)  
1

2
(𝑥4 + 3)

3

2 + 𝑐 

b)  
1

6
(𝑥4 + 3)

3

2 + 𝑐 

c)  
1

6
𝑥4(𝑥5 + 3)

3

2 + 𝑐 

d)  
1

6
(𝑥4 + 3)

1

2 + 𝑐 

 

 
 

 

 أوجد قيمة التكامل غير المحدود. 
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 Q.2: Antiderivatives 

Find the general antiderivative. 

∫ (
𝒆𝟐𝒙 − 𝟐𝒆𝟑𝒙

𝒆𝟑𝒙
)  𝒅𝒙 

a)  −𝑒−𝑥 − 2𝑥𝑒𝑥 + 𝑐 

b)  𝑒−𝑥 − 𝑥 + 𝑐 

c)  𝑒𝑥 − 2𝑥 + 𝑐 

d)  −𝑒−𝑥 − 2𝑥 + 𝑐 

 

 

 
 

 

 المحدود. أوجد قيمة التكامل غير 

https://t.me/InLibrary
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 Q.3: The Definite Integral 

Assume that: 

∫ 𝒇(𝒙)𝒅𝒙
𝟒

𝟐
= −𝟓 and ∫ 𝒈(𝒙)𝒅𝒙

𝟒

𝟐
= 𝟑. Find 

∫ [𝟒𝒈(𝒙) − 𝟑𝒇(𝒙)] 𝒅𝒙
𝟒

𝟐

. 

a)  2 

b)  27 

c)  1 

d)  −3 

 

 

 

 

 :
ّ
 افرض أن

∫ 𝒇(𝒙)𝒅𝒙
𝟒

𝟐
= ∫و   𝟓− 𝒈(𝒙)𝒅𝒙

𝟒

𝟐
=  . أوجد𝟑
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 Q.4: The Definite Integral 

Find a value of 𝒄 that satisfies the conclusion  

of the Integral Mean Value Theorem. 

∫ 𝟑𝒙𝟐
𝟐

𝟎

𝒅𝒙 

a)  2/√3 

b)  √3 

c)  1 

d)  −2/√3 

 

 

 

 

 

ي تحقق نتيجة 𝒄 أوجد قيمة
 نظرية القيمة  الت 

ي المتوسطة 
 . للتكامل الآت 
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 Q.5: The Definite Integral 

Write the given (total) area as an integral or 

sum of integrals.  

The area above the 𝑥-axis and below 

𝒚 = 𝟒𝒙 − 𝒙𝟐 

a)  ∫ −(4𝑥 − 𝑥2)𝑑𝑥
0

−4
 

b)  ∫ (4𝑥 − 𝑥2)𝑑𝑥
4

0
 

c)  ∫ −(4𝑥 − 𝑥2)𝑑𝑥
4

0
 

d)  ∫ (4𝑥 − 𝑥2)𝑑𝑥
2

0
 

 

 

 

 

 

ي صورة المعطاة كتب المساحة )الإجمالية( ا 
 
 تكاملف

   تكاملات.  أو مجموع

 وتحت 𝑥- المساحة فوق المحور 
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 Q.6: Antiderivatives 

Evaluate the indicated integral. 

∫ 𝐭𝐚𝐧 𝟐𝒙 𝒅𝒙 

a)  − cot 2𝑥 

b)  −
1

2
ln|cos 2𝑥| + 𝑐 

c)  sin 2𝑥 / cos 2𝑥 + 𝑐 

d)  −
1

2
ln|sin 2𝑥| + 𝑐 

 

 

 

 

 

 

 أوجد قيمة التكامل غير المحدود. 

ك الآن   اشي 

https://t.me/InLibrary
https://t.me/InLibrary
https://intellectlibrary.net/premium-membership/
https://intellectlibrary.net/premium-membership/
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 Q.7: Maximum and Minimum Values 

Find all the critical numbers of 

𝒇(𝒙) = 𝒙𝟑 − 𝟑𝒙𝟐 − 𝟗𝒙 + 𝟏 

a)  𝑥 = −9, 𝑥 = 1 

b)  𝑥 = −1, 𝑥 = 3 

c)  𝑥 = −1, 𝑥 = 1 

d)  𝑥 = −3, 𝑥 = 0 

 

 

 

 

 

 

 كل الأعداد الحرجة ل ــأوجد  

ك الآن   اشي 
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 Q.8: Maximum and Minimum Values 

Find the derivative of the function. 

𝒇(𝒙) = 𝒙𝟒 + 𝟔𝒙𝟐 − 𝟐 

a)  𝑓′(𝑥) = 𝑥5 + 6𝑥3 − 2𝑥 

b)  𝑓′(𝑥) = 4𝑥3 + 12𝑥2 

c)  𝑓′(𝑥) = 4𝑥3 + 12𝑥 − 2 

d)  𝑓′(𝑥) = 4𝑥3 + 12𝑥 

 

 

 

 

 

 

 مشتقة الدالة. أوجد 

ك الآن   اشي 
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 Q.9: Antiderivatives 

Find the general antiderivative. 

∫(𝟑𝒙𝟒 − 𝟑𝒙)𝒅𝒙 

a)  𝑥5 − 𝑥2 + 𝑐 

b)  
3

5
𝑥5 −

3

2
𝑥2 + 𝑐 

c)  𝑥3 − 3 + 𝑐 

d)  12𝑥3 − 3 + 𝑐 

 

 

 

 

 

 أوجد المشتقة العكسية العامة. 

ك الآن   اشي 
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 Q.10: Antiderivatives 

Evaluate the indicated integral. 

∫
𝟐𝒙

𝒙𝟐 + 𝟒
 𝒅𝒙 

a)  2𝑥2(𝑥2 + 4) + 𝑐 

b)  ln|𝑥2 + 4| + 𝑐 

c)  (𝑥2 + 4)2 + 𝑐 

d)  ln|𝑥2 + 2𝑥| + 𝑐 

 

 

 

 

 

 أوجد قيمة التكامل غير المحدود. 

ك الآن   اشي 
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 Q.11: Indeterminate Forms and L’Hopital’s Rule 

Evaluate 

𝐥𝐢𝐦
𝒙→∞

𝒆𝟏/𝒙   

a)  𝑒 

b)  0 

c)  1 

d)  ∞ 

 

 

 

 

 

 

 أوجد قيمة

ك الآن   اشي 
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 Q.12: The Definite Integral 

Evaluate 

∫ 𝟐𝒙 𝒅𝒙
𝟐

𝟏

 

a)  2 

b)  3 

c)  6 

d)  7 

 

 

 

 

 

 أوجد قيمة

ك الآن   اشي 
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 Q.13: Antiderivatives 

Find the general antiderivative. 

∫ 𝟐 𝐬𝐞𝐜 𝒙 𝐭𝐚𝐧 𝒙 𝒅𝒙 

a)  2 tan 𝑥 + 𝑐 

b)  2 sec2 𝑥 + 𝑐 

c)  2 sec 𝑥 + 𝑐 

d)  2 tan2 𝑥 + 𝑐 

 

 

 

 

 

 

 العكسية العامة. أوجد المشتقة 

ك الآن   اشي 
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 Q.14: Increasing and Decreasing Functions 

Find all vertical asymptotes of the function. 

𝒇(𝒙) =
𝟐𝒙

𝒙𝟐 − 𝟏
 

a)  𝑥 = 2 

b)  𝑥 = −1, 1 

c)  𝑦 = 2 

d)  𝑦 = −1, 1 

 

 

 

 

 

 

 . جميع خطوط التقارب الرأسية للدالةأوجد 

ك الآن   اشي 
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 Q.15: Increasing and Decreasing Functions 

Find the derivative of the function 

𝒇(𝒙) = 𝐬𝐢𝐧 𝒙 𝐜𝐨𝐬 𝒙 

a)  𝑓′(𝑥) = 1 

b)  𝑓′(𝑥) = sin2 𝑥 − 1 

c)  𝑓′(𝑥) = − cos 𝑥 sin 𝑥 

d)  𝑓′(𝑥) = cos 2𝑥 

 

 

 

 

 

 

 . لدالةا مشتقةأوجد 

ك الآن   اشي 
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 Q.16: Concavity and the Second Derivative Test 

Find 𝒇′′(𝒙).  

𝒇(𝒙) =
𝒙𝟐 − 𝟓𝒙 + 𝟒

𝒙
 

a)  𝑓′′(𝑥) = 1 − 5/𝑥 

b)  𝑓′′(𝑥) = 1 − 8/𝑥3 

c)  𝑓′′(𝑥) = 𝑥 − 5 + 5/𝑥 

d)  𝑓′′(𝑥) = 8/𝑥3 

 

 

 

 

 

 . 𝒇′′(𝒙)أوجد  

ك الآن   اشي 
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 Q.17: Sums and Sigma Notations 

Use the given function values to estimate the area 

under the curve using right-endpoint evaluation. 

 

𝒙 1.0 1.2 1.4 1.6 1.8 

𝒇(𝒙) 0.0 0.4 0.6 0.8 1.2 

 

a)  3 

b)  0.6 

c)  0.36 

d)  4.76 

 

 

 

استخدم قيم الدالة المعطاة لتقدير المساحة تحت 

 .  المنحت  باستخدام قيم نقطة النهاية اليمت 

ك الآن   اشي 
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 Q.18: Sums and Sigma Notations 

Compute the sum of the form ∑ 𝒇(𝒙𝒊)∆𝒙𝒏
𝒊=𝟏  

for the given values of 𝒙𝒊 where 

𝒇(𝒙) = 𝟑𝒙 + 𝟓;    𝒙 = 𝟐, 𝟒, 𝟔;    𝒏 = 𝟑;   ∆𝒙 = 𝟐 

a)  11 

b)  51 

c)  22 

d)  102 

 

 

 

 

 

ي صيغة 
 
∑أوجد المجموع ف 𝒇(𝒙𝒊)∆𝒙𝒏

𝒊=𝟏   لقيم

𝒙𝒊 حيث 

ك الآن   اشي 
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 Q.19: Concavity and the Second Derivative Test 

Find the inflection points of the function. 

𝒇(𝒙) = 𝐭𝐚𝐧−𝟏 𝒙𝟐 

a)  (−
1

√3
, 𝑓 (−

1

√3
)) , (

1

√3
, 𝑓 (

1

√3
)) 

b)  (2, 𝑓(2)) 

c)  (−
1

√3
4 , 𝑓 (−

1

√3
4 )) , (

1

√3
4 , 𝑓 (

1

√3
4 )) 

d)  (−
1

3
, 𝑓 (−

1

3
)) , (

1

3
, 𝑓 (

1

3
)) 

 

 

 

 

 أوجد نقاط الانعطاف للدالة. 

ك الآن   اشي 
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 Q.20: Increasing and Decreasing Functions 

Find the intervals where the function 𝒇(𝒙) is increasing. 

 

a)  (−∞, −2) ∪ (1, 2) 

b)  (−2, −√
5

2
 ) ∪ (0, 1) 

c)  (−∞, −√
5

2
) ∪ (0, √

5

2
) 

d)  (−√
5

2
, 0) ∪ (√

5

2
, ∞) 

 

 

 

 

ي تكون فيها الدالة 
ات الت  ايدة.  𝒇(𝒙)أوجد الفي   مي  

𝒇(𝒙) 

ك الآن   اشي 
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 Q.21: Maximum and Minimum Values 

Find the local minimum of 𝒇(𝒙). 

𝒇(𝒙) =
𝟏

𝟒
𝒙𝟒 −

𝟏

𝟐
𝒙𝟐 − 𝟐 

a)  𝑓(−2) = 0 

b)  𝑓(0) = −2 

c)  𝑓(2) = 0 

d)  𝑓(−1) = −2.25, 𝑓(1) = −2.25 

 

 

 

 

 

 . 𝒇(𝒙)أوجد القيم الصغرى المحلية للدالة 

𝒇(𝒙) 

ك الآن   اشي 
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 Q.22: Maximum and Minimum Values 

Find the derivative of the function. 

𝒇(𝒙) = 𝒙𝒆−𝟐𝒙 

a)  𝑓′(𝑥) = 𝑒−2𝑥(1 − 2𝑥) 

b)  𝑓′(𝑥) = −2𝑒−2𝑥 

c)  𝑓′(𝑥) = −2𝑥𝑒−2𝑥 

d)  𝑓′(𝑥) = 𝑥𝑒−2𝑥 − 1 

 

 

 

 

 

 

 أوجد مشتقة الدالة. 

ك الآن   اشي 

https://t.me/InLibrary
https://t.me/InLibrary
https://intellectlibrary.net/premium-membership/
https://intellectlibrary.net/premium-membership/
https://intellectlibrary.net/premium-membership/
https://intellectlibrary.net/premium-membership/


    مكتبة الفكر 

 

 

2
3

 Q.23: Optimization      Paper Part       Show all your work 

You have 60 m of fencing with which to 

enclose a rectangular space for a garden. Find 

the dimensions of the garden to get the largest 

area that can be enclosed by this fence. 

 

 

 

 

 

 

 

 

 

 

 

 

 

م لتحيط به حديقة مستطيلة الشكل.   60لديك سياج طوله  

أوجد أبعاد الحديقة لتحصل على أكبر مساحة يمكن إحاطتها  

 السياج. بهذا 

ك الآن   اشي 
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 Q.24: Related Rates      Paper Part       Show all your work 

Sand is dumped such that the shape of the 

sandpile remains a cone with height equal to 

twice the radius. If the sand is dumped at the 

constant rate of 36 ft3/s, find the rate at which 

the radius is increasing when the height 

reaches 6 ft. 

 

 

 

 

 

 

 

 

 

 

 

ي كومة مخروطية الشكل 
  ارتفاعها يعادلو ينسكب الرمل ف 

،  s/336 ftقطرها. إذا انسكب الرمل بمعدل ثابت ضعف 

 ؟ft 6رتفاع لاتزايد ارتفاع الكومة عندما يكون ا  فما معدل 

ك الآن   اشي 
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 Q.25: Antiderivatives      Paper Part       Show all your work 

Determine the position function if the 

acceleration function is 𝑎(𝑡) = 𝑡2 + 1, the 

initial velocity is 𝑣(0) = 4 and the initial 

position is 𝑠(0) = 0. 

 

 

 

 

 

 

 

 

 

 

 

 

 

هي   التسارع  دالة  إذا كانت  المكانية  الدالة  𝑎(𝑡)حدد  =

𝑡2 + 𝑣(0)، والسرعة المتجهة الابتدائية  1 = والموقع   4

ي هو 
𝑠(0)الابتدائ  = 0. 

ك الآن   اشي 
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 Q.26: Rates of Change in Economics        Paper Part (BONUS)              Show all your work 

Let 𝑅(𝑥) be the revenue and 𝐶(𝑥) be the cost of 

manufacturing 𝑥 items. Profit is defined as 

𝑃(𝑥) = 𝑅(𝑥) − 𝐶(𝑥) dirhams. Find the 

maximum profit if 𝑅(𝑥) = 10𝑥 −

0.001𝑥2 dirhams and 𝐶(𝑥) = 2𝑥 + 5000 

dirhams. 

 

 

 

 

 

 

 

 

 

 

 

عرف 𝐶(𝑥) هي الإيرادات و  𝑅(𝑥)لتكن  
ُ
هي تكلفة تصنيع  منتج. ت

بأنها   𝑃(𝑥)الأرباح  = 𝑅(𝑥) − 𝐶(𝑥)  العظمى القيمة  أوجد   .

كانت   إذا  𝑅(𝑥)للأرباح  = 10𝑥 − 0.001𝑥2    درهم

𝐶(𝑥)و = 2𝑥 +  درهم.  5000

ك الآن   اشي 

https://t.me/InLibrary
https://t.me/InLibrary
https://intellectlibrary.net/premium-membership/
https://intellectlibrary.net/premium-membership/
https://intellectlibrary.net/premium-membership/
https://intellectlibrary.net/premium-membership/


    مكتبة الفكر 

 

 

2
7

 Q.27: Rates of Change in Economics        Paper Part (BONUS)              Show all your work 

For the function 𝑦 = ∫ cos(𝜋𝑡3) 𝑑𝑡
𝜋

2
, find an 

equation of the tangent line at 𝑥 = 2. 

 

 

 

 

 

 

 

 

 

 

 

𝑦للدالة    معادلة خط المماسأوجد   = ∫ cos(𝜋𝑡3) 𝑑𝑡
𝜋

2
 

𝑥عند  = 2. 

ك الآن   اشي 
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